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Total questions n exam 28 lm-.

Question No 1

The equation 9x7 — 6X I has

two nonreal complex roots
two rational roots

two wrational rools

one repeated rool



What is the degree of this polynomial: 2x°— 5x* —10x+ 9




1S NOL
not a polvI
polynomial
VyNno nial’/




. the distributive property

4x1=4

4+6=6+4
4+(6+7)=(4+6)+7
4x(6+7)=4x%x6+4 >
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Question "o

[he equation 9% 6HX | has

two nonreal complex roots
twoO ratonal roots
twoO rratonal rools

ne repeated rool
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Question No. 21

Find this quotient
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stion No. 25

the equation az? — 61 4 9 = 0 has one doubled (repe

| = 36
= ~1
= -36

1 =1

ated) solution. then



Factorcompletely 49a%b - b}

,

’

‘0 b(7a+b)7a—-b) ‘/

o (7a+b¥7a-b) .“ 3

- -

Q Priﬁe,doan't actor ,L'/’
'o b(7a-b

‘
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Question No. 21

Find this quotient




Ked =y -2
Factor -

-9

@ 2x-y-2x+Y*3)
Q(u-103l“" =
| @ (ax—y-3Nax+y*
@m —y eIy -3)







Question No. 19

Perform the indicated operation [(x—2y)+7][(x- 2y)-7

v

x2-21y+4y2—49

Jx2+4xy+4y2-49

-

x2-4xy+4y2~49

.l” ‘41."—4-"2 \49



Question No. 8
Factor 4m* — 12m +9

(2m + 3)
(2m—T7)(2m - 9)
(2m — 3)°

(2m —3)2m + 3)




Question No. 3

(5m+2)

25m*+20m+4
25mi+4
Smi+4

Sm*+20m+4



Question No. 23

A (2+43i) -
Write 2 =3{ —_—) in the standard formz =a+&i

RS

Z= 9-6i
2= -9.6|
2= 946|

2= .9461




Question No. 7

Using set notation, the elements belonging 1o the set (x| x 5 a natural number ess than Z) are




Question No. 22

Factor v —8x—20
(X 4 1)x -~ 20)
(x + 2)(X 10)
(% 2)x ¢ 10)

|""|-l~1



Question No. 5
Simplify the expression by rationalizing the denominator:

4 — 7
2 — 7
2+ V7

4 4 \/{ 7




Question No. 20

Select the correct property that describes the given equaton. x + (y ¢ X+(3+)



Perform the indicated operation (5x - 11y)(2x 7 y)

® 10x° ~S7xy -77)'2
® 5% S7xy 4777

®10x° - 13xy 4772

@ 10472 ~S57xy + 77_;-2

l

Save & Next



Question No. 4
Factor: (3u + 5)2 18(3u + 5) + 81

(3u %4)2
(3u+4)(3u - 14)
(3u +14)(3u - 4)

"

(3u -4y




Question No. 12

The solution set of the equation 6(x-2



Question No. 16

The domamn of 18

x+3)(2x-3)

R\ {-3, 3)
R\ (3, —)

R\



Question No. 9

Simplify and write in the standard form of a complex number
o1

4 4+ N



Question No. &

: . ' )
Simplify the expression: ‘)_v( H ‘)}')”._\'r()




Question No, 18

Solve A = P(1 + nr) forr

AP
Pn

n



question No. 13

Which one of the following equations I1s a o ntradiction?

3(5x 3) 15x+ 19
20x+8) +3x =X 16
5x - 4 11

x2 —4=10



Question No. 14
Perform the indicated operation

."h‘l ‘

™
.

(za~ ‘b*c*

Ib)2-Yac
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Question No. 17

Thebascof -5p' 1s



| Answered 0

Total questions n exam 25

Question No. 25

Simplify the expression 13+8




Question No. 11

If A is any set then A U @ is equal to

0



Question No. 15



Question No. 24

The solution set of (x + 5)* +10=3 1S
(-S£5)

54 J5
25V 3

+5 ‘rﬁ
(32

no real solutions




Question No. 19

2% =

» ! 3 | 5
.\HI»I.H.\.- r i & real number. Evaluats the expression
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Question No. 10
Solve: 2x* = x — 4

{i(l ti,/31))

1 B =
(1 +i)/31))
G (-1+iJ31))
G (-1 +iy/31))
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Find this quotient — 4™ . 9m" +%0m

m?*10meB0 M 18meB0

2(m+1)

me+)

Sm

me+ed
4

" ¥m+10)
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